

Find the limits below

$$1) (10 \text{ points}) \lim_{x \rightarrow 0} \frac{x^3 + 2x - 1}{\frac{\sin x}{x} + 15} = \frac{-1}{1 + 15} = -\frac{1}{16}$$

(Used limit laws and $\lim_{x \rightarrow 0} \frac{\sin x}{x} = 1$)

$$2) (10 \text{ points}) \lim_{x \rightarrow -\infty} \frac{x^5 - x^3 + 4x^2 + 39}{9x^2 - 6} = \lim_{x \rightarrow -\infty} \frac{x^5}{9x^2} \frac{1 - \frac{1}{x^2} + \frac{4}{x^3} + \frac{39}{x^5}}{1 - \frac{6}{9x^2}}$$

$$= \left(\lim_{x \rightarrow -\infty} \frac{x^3}{9} \right) \cdot 1 = -\infty$$

3) (10 points) Compute b so that $f(x)$ below becomes continuous at $x = 1$.

$$f(x) = \begin{cases} \frac{3x^2 - 9x + 6}{x-1} & \text{if } x < 1 \\ \frac{2}{b} + \cos(x-1) & \text{if } x \geq 1 \end{cases}$$

Need $\lim_{x \rightarrow 1^-} f(x) = \lim_{x \rightarrow 1^+} f(x)$

Factor $3x^2 - 9x + 6$: roots: $\frac{9 \pm \sqrt{81 - 72}}{6} = \frac{9 \pm 3}{6} = \begin{matrix} \nearrow 2 \\ \searrow 1 \end{matrix}$

$$3x^2 - 9x + 6 = 3(x-2)(x-1)$$

$$\lim_{x \rightarrow 1^-} f(x) = \lim_{x \rightarrow 1^-} \frac{3(x-2)(x-1)}{(x-1)} = \lim_{x \rightarrow 1^-} (3(x-2)) = -3$$

$$\lim_{x \rightarrow 1^+} \frac{2}{b} + \cos(x-1) = \frac{2}{b} + 1$$

$$-3 = \frac{2}{b} + 1 \therefore \frac{2}{b} = -4 \therefore b = -\frac{2}{4} = \boxed{-\frac{1}{2}}$$

4) (10 points) Find the equation of the tangent line to the graph of the function $f(x) = x + \sqrt{x}$, through the point $(4, 6)$.

$$f(x) = x + x^{1/2} \therefore f'(x) = 1 + \frac{1}{2}x^{-1/2} = 1 + \frac{1}{2\sqrt{x}}$$

$$f'(4) = 1 + \frac{1}{2 \cdot 2} = \frac{5}{4}$$

tangent line: $y - 6 = (x - 4) \cdot \frac{5}{4}$

$$\therefore y - 6 = \frac{5x}{4} - 5$$

$$\therefore y = \frac{5x}{4} + 1$$

5) (10 points) Compute the first and second derivatives of the function $f(x) = \sin(x^2 + 1)$.

$$f'(x) = \cos(x^2 + 1) \cdot \frac{d}{dx}(x^2 + 1) = 2x \cos(x^2 + 1)$$

$$\begin{aligned} f''(x) &= 2 \cos(x^2 + 1) + 2x \cdot (-\sin(x^2 + 1)) \cdot \frac{d}{dx}(x^2 + 1) \\ &= 2 \cos(x^2 + 1) - 2x \sin(x^2 + 1) \cdot 2x \\ &= 2 \cos(x^2 + 1) - 4x^2 \sin(x^2 + 1) \end{aligned}$$

6) (10 points) Compute the derivative of the function $h(x) = \frac{3^x}{x}$.

$$h(x) = \exp((\ln 3) \cdot x) / x$$

$$h'(x) = \frac{\exp((\ln 3) x) \cdot \frac{d}{dx}((\ln 3) \cdot x) \cdot x - \exp((\ln 3) x) \cdot 1}{x^2}$$

$$= \frac{\exp((\ln 3) x) \cdot \ln(3) \cdot x - \exp((\ln 3) x)}{x^2}$$

$$= \frac{(\ln 3) \cdot x \cdot 3^x - 3^x}{x^2}$$

7) (10 points) Compute the derivative of the function $g(x) = \ln \ln x$.

$$g'(x) = \frac{1}{\ln x} \cdot \frac{d}{dx} \ln x = \frac{1}{x \ln x}$$

8) (10 points) Use a linear approximation to the function $f(x) = \exp(x)$ at $x = 0$ to obtain an approximate value for $\exp(0.01)$.

$$f'(x) = \exp(x)$$

$$L(x) = f(0) + f'(0) \cdot (x-0) = 1 + 1 \cdot (x-0) = 1+x$$

$$\exp(0.01) \approx L(0.01) = 1.01$$